

ερωτήσεις εξάσκησης (φυσικά ο.η. - γ' λύσεις)

II

$$1. \lim_{h \rightarrow 0} \frac{\phi\left(\frac{a}{2}+h\right) - \phi\left(\frac{a}{2}\right)}{h} = \phi'\left(\frac{a}{2}\right)$$

$$\text{αλλά } (\phi x)' = \frac{1}{\sin^2 x}, \text{ άρα } \phi'\left(\frac{a}{2}\right) = \frac{1}{\sin^2 \frac{a}{2}} = \frac{1}{\left(\frac{\sqrt{3}}{2}\right)^2} =$$

$$= \frac{1}{\frac{3}{4}} = \frac{4}{3} \quad (\text{B})$$

$$2. \lim_{h \rightarrow 0} \frac{\frac{1}{x+h} - \frac{1}{x}}{h} = \left(\frac{1}{x}\right)' = -\frac{1}{x^2} \quad (\Gamma)$$

$$\text{2ος τρόπος } \lim_{h \rightarrow 0} \frac{\frac{x - (x+h)}{x(x+h)}}{h} = \lim_{h \rightarrow 0} \frac{x - x - h}{h x (x+h)} = \lim_{h \rightarrow 0} \frac{-h}{h x (x+h)} =$$

$$= \lim_{h \rightarrow 0} \frac{-1}{x(x+h)} = -\frac{1}{x^2}$$

$$3. f(x) = 5^{3x}$$

$$f(x) = e^{3x \cdot \ln 5} \text{ άρα } f'(x) = e^{3x \cdot \ln 5} \cdot (3x \cdot \ln 5)' =$$

$$= 5^{3x} \cdot 3 \ln 5 = 5^{3x} \cdot \ln 5^3 = 5^{3x} \cdot \ln 125 \quad (\text{E})$$

$$4. f(x) = \sin^3(x+1) \quad f'(1) = ?$$

$$f'(x) = 3 \sin^2(x+1) \cdot (\sin(x+1))' = 3 \sin^2(x+1) \cdot (\cos(x+1))$$

$$= -3 \sin^2(x+1) \cdot \sin(x+1)$$

$$\text{οπότε } f'(1) = -3 \sin^2(1+1) \cdot \sin(1+1) \quad (\Gamma)$$

$$5. f(x) = (x^2-1)^3 \quad f^{(7)}(x) = ?$$

$$f'(x) = 3(x^2-1)^2 (x^2-1)' = 3(x^2-1)^2 \cdot 2x = 6x(x^2-1)^2$$

$$f''(x) = 12x(x^2-1)(x^2-1)' + 6(x^2-1)^2 = 12x(x^2-1) \cdot 2x + 6(x^2-1)^2 = 24x^2(x^2-1) + 6(x^2-1)^2 = 6(x^2-1)(4x^2+1)$$

$$f^{(3)}(x) = 6(2x)(4x^2+1) + 6(x^2-1) \cdot 8x =$$

$$= 12x(4x^2+1) + 48x(x^2-1) =$$

$$= 48x^3 + 12x + 48x^3 - 48x = 96x^3 + 12x - 48x = 96x^3 - 36x$$

$$f^{(4)}(x) = 396x^2 + 36$$

$$f^{(5)}(x) = 396 \cdot 2x$$

$$f^{(6)}(x) = 6 \cdot 96$$

$$f^{(7)}(x) = 0 \quad f^{(7)}(0) = 0.$$

$$6. f(x) = \ln x \quad \text{um} \quad g(x) = 2x^2$$

Find a number η ($\in \mathbb{R}$) that is a root of the equation $f(x) = g(x)$ in the interval $(\varepsilon_1, \varepsilon_2)$ where $\varepsilon_1 < \varepsilon_2$ and $\eta \in (\varepsilon_1, \varepsilon_2)$.

$$\text{Apply } f'(x) = g'(x) \Rightarrow$$

$$\Rightarrow \frac{1}{x} = 4x \Leftrightarrow x^2 = \frac{1}{4} \Leftrightarrow |x| = \frac{1}{2} \Leftrightarrow x = \pm \frac{1}{2}$$

$$\text{Add } x_0 > 0 \Rightarrow x = \frac{1}{2} \text{ is a root. Since } x_0 = \frac{1}{2} \in (\varepsilon_1, \varepsilon_2)$$

$$7. f(x) = e^{\beta x}, \quad g(x) = e^{\alpha x}$$

$$f'(x) = \beta e^{\beta x}, \quad g'(x) = \alpha e^{\alpha x}$$

$$\text{lim. as } \left(\frac{f(x)}{g(x)} \right)' = \frac{f'(x)}{g'(x)} \Rightarrow \frac{f'(x) \cdot g(x) - f(x) \cdot g'(x)}{g^2(x)} = \frac{f'(x)}{g'(x)}$$

$$\Leftrightarrow \frac{\beta e^{\beta x} \cdot e^{\alpha x} - e^{\beta x} \cdot \alpha e^{\alpha x}}{e^{2\alpha x}} = \frac{\beta e^{\beta x}}{\alpha e^{\alpha x}} \Leftrightarrow \frac{e^{\beta x + \alpha x} (\beta - \alpha)}{e^{2\alpha x}} = \frac{\beta}{\alpha} \cdot e^{\beta x - \alpha x}$$

$$\Leftrightarrow e^{\beta x - \alpha x} (\beta - \alpha) = \frac{\beta}{\alpha} \cdot e^{\beta x - \alpha x} \Leftrightarrow \beta - \alpha = \frac{\beta}{\alpha} \Leftrightarrow \beta - \frac{\beta}{\alpha} = 0 \Leftrightarrow$$

$$\Leftrightarrow \beta \left(1 - \frac{1}{\alpha}\right) = 0 \Leftrightarrow \beta = \frac{\alpha - 1}{\alpha - 1} = 1 \Leftrightarrow \beta = \frac{\alpha^2}{\alpha - 1} \quad \alpha \neq 1 \quad (e)$$

8. Ar $f'(x) > 0 \quad \forall x \in [-1, 1]$ and $f(0) = 0$ then
and Q.M.T. then $\exists \xi \in (-1, 0)$ such

$$f'(\xi) = \frac{f(0) - f(-1)}{0 - (-1)} > 0 \Rightarrow \frac{-f(-1)}{+1} > 0 \Rightarrow f(-1) < 0$$

or by Q.M.T.

then $\exists \xi \in (0, 1)$

$$f'(\xi) = \frac{f(1) - f(0)}{1 - 0} > 0 \Rightarrow \frac{f(1)}{1} > 0 \Rightarrow f(1) > 0$$

2nd option

Let $f'(x) > 0 \quad \forall x \in [-1, 1]$ and $f \uparrow$ on $[-1, 1]$

• $-1 < \xi < 1$

then $-1 < x < 0 \xrightarrow{f \uparrow} f(-1) < f(x) < f(0) \Rightarrow f(-1) < 0$

then $0 < x < 1 \xrightarrow{f \uparrow} f(0) < f(x) < f(1) \Rightarrow f(1) > 0$

III

1. (a) $\rightarrow$ (c) 1. $f(x) = x^2 + 1 \Rightarrow f'(x) = 2x$
- (b) $\rightarrow$ (A) 2. $f(x) = |x| = \begin{cases} x, & x \geq 0 \\ -x, & x < 0 \end{cases}$
 $f'(x) = \begin{cases} 1, & x > 0 \\ -1, & x < 0 \end{cases}$
- (c) $\rightarrow$ (B) 3. $f(x) = ax^4 + bx^3 + cx^2 + dx, a \neq 0$
 $f'(x) = 4ax^3 + 3bx^2 + 2cx + d$
- (d) $\rightarrow$ (A) 4. $f(x) = 2x, f'(x) = 2$ and so on.

2. Asif namun f o'z t u

1) $f(x) = x + \frac{1}{x^2}, x \neq 0$

$\lim_{x \rightarrow +\infty} \frac{f(x)}{x} = \lim_{x \rightarrow +\infty} \left(1 + \frac{1}{x^3} \right) = 1 = \alpha$, $\text{ot.} \lim_{x \rightarrow +\infty} \frac{1}{x^3} = 0$.

$\lim_{x \rightarrow +\infty} [f(x) - \alpha x] = \lim_{x \rightarrow +\infty} \left[x + \frac{1}{x^2} - x \right] = \lim_{x \rightarrow +\infty} \frac{1}{x^2} = 0 = \beta$

Asif namun $y = x$ (A.)

2) $f(x) = -x + 1 + \frac{1}{e^x}$

$\lim_{x \rightarrow +\infty} \frac{f(x)}{x} = \lim_{x \rightarrow +\infty} \left(-1 + \frac{1}{x} + \frac{1}{x \cdot e^x} \right) = -1 = \alpha$

$\text{ot.} \lim_{x \rightarrow +\infty} \frac{1}{x} = 0$ $\text{va} \lim_{x \rightarrow +\infty} \frac{1}{x \cdot e^x} = 0$ $\text{ot.} \lim_{x \rightarrow +\infty} \frac{1}{e^x} = 0$

$\lim_{x \rightarrow +\infty} [f(x) - \alpha x] = \lim_{x \rightarrow +\infty} \left(-x + 1 + \frac{1}{e^x} + x \right) =$

$= \lim_{x \rightarrow +\infty} \left(1 + \frac{1}{e^x} \right) = 1 = \beta$ $\text{ot.} \lim_{x \rightarrow +\infty} \frac{1}{e^x} = 0$

Asif namun $y = -x + 1$ (B.)

$$3. f(x) = 2 + \frac{3}{x-2}$$

$$\lim_{x \rightarrow \infty} \frac{f(x)}{x} = \lim_{x \rightarrow \infty} \left(\frac{2}{x} + \frac{3}{x(x-2)} \right) = 0$$

$$\text{or! } \lim_{x \rightarrow \infty} \frac{2}{x} = 0 \quad \text{and} \quad \lim_{x \rightarrow \infty} \frac{3}{x^2 - 2x} = \lim_{x \rightarrow \infty} \frac{3}{x^2} = 0$$

$$\lim_{x \rightarrow \infty} \left(2 + \frac{3}{x-2} \right) = 2 \quad \text{or! } \lim_{x \rightarrow \infty} \frac{3}{x-2} = \lim_{x \rightarrow \infty} \frac{3}{x} = 0$$

As $x \rightarrow \infty$, $y = 2$ (A.)